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1. Wiktoria and Tapan share some money in the ratio 1 : 4
Tapan gets £100
Work out how much Wiktoria should have.

2. Chase and Dev share some money in the ratio 3 : 2
Dev gets £500
Work out how much Chase should have.
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3. Karim and Lee share some money in the ratio 1 : 3
Lee gets £600

Work out how much Karim should have.

4. Mylo and Niall share some money in the ratio 3 : 1
Mylo gets £1200
Work out how much Niall should have.
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Lee gets £600

Work out how much Karim should have.

4. Mylo and Niall share some money in the ratio 3 : 1
Mylo gets £1200
Work out how much Niall should have.
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